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Exponential equation can sometimes be solved by exploiting that one-to-one
property of exponential functions. For example

2(4x=3) — 14
We can solve this by first writing both sides of the equation in terms of the
- _ 24
same base. We know 16 =2 that so re-writing
2(43(—3) — 24

Using the one-to-one property

4x—3 =4
4x =7
_7

*=3

Solve each of the following equations by using the one-to-one property of
exponential functions.

)27 5==8 5) 52* = 625 9) 25% = 1024

2) 557 =125 6) 82% = 32 10)2*° x 3% = 36"z
3)32%-1 = g1 7) 42742341 _ 16

4) 43 = 128 8) 96% = 243
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Answers

1) x=1

6) X = —

2) x =2 <
7)) x = —1++

3N K==
8) X = —

2 et
4)X_6 9) x=2
5) x =2 10) x =1
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